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MANAGEMENT (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

.Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized

one.
Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.

@Us—A / SECTION—A

(a) T FMCG Fori Sfio T8 fo fte gragdl & Fmiw ot it @ it & wed s@en & arem

(b)

()

¥ fosht & AR @ 3| I UF oty A e wregEt % aW SR 369 el At o N
a3t wE Wik @t §4 f @ Tt T S g S 98 W@ 8| FE e an-an
gt g s ¥ wwen w e w1 |, w3 a6 oA ogee 'wE e |

- R T f o et 3, AR-3R win wiEdaeie yaftla Bt S 21 sfo T do fo

Y gwens Agen wowder § gwd frn, e geme R B aw wwen ‘gafRe e &
w%|

An FMCG company G & P Ltd. is in the business of making and selling diapers
through its supply chain. It is facing a serious problem of huge inventory in
one period followed by a large number of stock-outs in the next period. The
pattern is getting repeated again and again. On analyzing the problem, the
company found that as demand information moves upstream in the supply
chain, the demand variability is getting amplified. A supply chain consultant
was approached by G & P Ltd. who suggested that this problem is due to
Bullwhip Effect.

‘TSR WA’ TN G R &7
What are the possible reasons of Bullwhip Effect?

(i) ‘TR v’ Y R W steTer foRaT S weRa &7
How can Bullwhip Effect be contained?

(i) Taht % forg (PoS) &t gum #il e ‘gerfeey W’ tﬂw%?
What is the role of Point of Sales (PoS) information on the Bullwhip Effect?

() a6 aieeet §, qeE st (maﬁm)aﬁwﬁ%mmu@ﬁﬁw
% fagrat @ fra wem wimg w7
How would you apply the principles of value analysis to reduce cost
overruns in Indian projects?

(ii) n@ﬁsﬁw%mﬁmﬁqwmﬁwawﬁﬁf?\

What are the phases that you will follow in the process of value analysis?

T A & 36 § 50 3¢ # amg & 200 franfrt ofk st Fe F 50 | fdew af &
200 et % o # fufor w0 % fog 6 2w wmen ¥ g =% G ot & &
%ﬁﬁeﬁmmﬁﬁ%%\wwmw%36@503&%%%200%‘0@@?1}@
82ﬁa®ﬁaﬁmg@a TER-TA | T Ed 91 50 a8 § sy % 200 i § |
104ﬁﬁﬁﬁwmwﬁmmﬁw-wﬁﬁﬁﬁaﬁai

A study is conducted on 200 residents of a colony who were between the ages
of 36 and 50 years, and on 200 residents of the same colony who were over the
age of 50 years, to determine whether the source of their daily news is from
newspapers or otherwise. Of the 200 residents who were between the ages of
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36 and 50 years, 82 got their news primarily from newspapers. Of the
200 residents who were over the age of 50 years, 104 got their news primarily
from newspapers.

(i) o e famh = 39 s = A fr 9w, @ W@ 9 f e ((NarfafE)
w1 gnft T Faehl—
If a resident is selected at random, what is the probability that he or she—
(1) oemm mafes ¥4 § gen-= @ e §
got news primarily from newspapers,
(2) "R Wl w9 § gaEn-w @ fer § o ag 50 o @ fte @
got news primarily from newspapers and is over 50 years old,
(3) TR Wl €1 | FaEm-vE @ few § @ 3 50 T | i @ 27

got news primarily from newspapers or is over 50 years old?

(i) " SRR % & Farfil & 3w e s 21 59 99 v =@ et I S
A guran wufis w9 Q4 geER-vE @ fiee §7

Suppose that two residents are selected. What is the probability that both
got news primarily from newspapers? 10

(d) () W@ F TR e wwEl § dgw owfie yeen (3w dieiw) ¥ fm o wn-d-mm dl
el gamu |
Suggest at least three strategies for better waste management in Indian
cities and towns. 5

(i} ¥ FEieE e 9w gian Aard yem w1 ¥ R fmkar () g ol 999 & fag
Iy o 2 g ! F FETE w07

What are the two main factors which you would use for vendor evaluation
and selection for providing security services at office premises? 5

() () FRER 3 Ie F g gEa TOIeh (THo Tgo WHo) F 3Ll iR wewl w Frmul
T el 3itt afEimat w1 e Hifvm) '

Enumerate the objectives and importance of MIS in business and
industry. State its advantages and limitations. 5

(i) TFET Rrew (3o THo) FM R? do WHo o oY iR afwfmad # Aol Hifer

What is an expert system (ES)? Describe the advantages and limitations
of ES. 5
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2.

(a) | 3R o = (To fo o) o g Raffia o o Do W & Wy § mER B

(b)

T frE o o do Lo Wl i amRET 3w W @ 31 TE Do o Go M wifEN
A T A TR S &, @ 98 o1t § F Sar @ oM 3@ st fepremn givea g R

TEE o o Fro Flow i wmet Fewer & forg sl Ireht, Amg, AR Yo S R
| P SR F § R ar @ o e flo T @ S R A ek B W @ St
To So o T T FHEN § GUR @R F I o B '

Arora Electronics Company (AEC) is receiving a lot of customers’ complaints
and returns of DVD players that it manufactured. When a DVD is pushed into
ithe loading mechanism, it can stick inside and it is difficult to get the DVD out.
-Consumers will try to pull the DVD drawer out with their finger or pry it out
with an object like knife, pencil or screwdriver, frequently damaging the DVD
or hurting themselves. AEC is keen to improve this quality problem.

| i) t[umaaﬁrﬁ]amn(grqﬂ:m)w%?@éoaﬁogwmwmmwm%?

What are the different d1mensmns of quality? How can quality be
measured by AEC?

| (i) T ST % o g et ) e SR w3 - F 9 et 27

|
Explain the three main classifications of quality costs. Are these related
with one another?

{iii) meﬁmmaﬁa@mgﬁaﬁwmwlmm Fo Hio

| TR TR SRR X E R

: Suggest the seven basic quality tools that are used in total quality
management. How can these be used by AEC?

@) e, T IO Ol %, T FE o, Qo g9 217 To do Hio I YA FHeb! HA
9 U g, ﬁ%mww%mﬁwﬁwélmmm%
e Y T fRE JER T

Crosby, a leadmg quality Guru, said, “Quality is free.” AEC management
fails to understand this because for better quality management they need
money. How will you explain to them the rationale of what Crosby said?

Wil & uformeaey wHlsaedt (asiifome) da1 & T g, s wf que 60 wv2 @ i i
R T &) weiiE g ey o U0 W S & A HRoi § @ O 7 o B 3% e e
R i g B F w0 TR o 1564 FEemfE & uw wdsm § 786 W iR
778 wfgemd off 3fi ot A swien B 707 gEw R 638 wiATd I Sia W wER w o,
wifH 98 ook oI gAYl o) gefewar (Refifera) & 0-05 T W, #1 9T & 3uv iR
ATl €9 % HAU AR TEE F ATS HEEA JEN 1 AHGAE Aiearsd & wEgeE ¥
e 2?

Technology has led to the rise of workaholics, who are on the job 60 hours or
more per week. One of the reasons cited by employees as to why they worked

long hours was that they loved their job, because it is stimulating and
challenging. A survey of 1564 workaholics included 786 men and 778 women
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3.

{c}

and the results showed that 707 men and 638 women loved their job, because
it is stimulating and challenging. At 0-05 level of significance, is the proportion
of workaholic men, who loved their job because it is stimulating and
challenging, different from the proportion of women?

(i) FRER 3 yerur fom (ffawm-afE) & gl 3 do wo o &1 Fa o1df 37 suat
@ FTEO ) T 8 WE FIRm| o wHe WHo % g fywiawt 3 gamdal &
iy hifem

What is meant by DSS in context to business and management decision-
making? Explain with an example that you are aware. State ten
characteristics and capabilities of DSS.

(ii) 3o Mo dio YUIEH & W@ YTl W Y91 ST | 419 TH R FaTgy, Sl 7Y R "eam
T & W 3o ARo Flo M * forg Im #1@ &
Highlight the major functions of ERP system. State five factors, which are
driving ERP adoption by small and medium enterprises.

(a) & @y fafmin o @ yer & saEl, ‘T’ ot Tww, @ T w31 T | R )

F= @ Ty o R 9y T € 100 R W A1 Il & forg din fawr, e, afesn aiv
fEfafim, § v f Ewsa ad ) T F fou o, A o REm 7 s
9 gue, 1 guey 3K 4 U @d &1 ‘A9 & Tou o= fawmt A wEw: 4 ww2, 1 owver i 7w
i ¥ W ft ) Fedamand wrm: 36 TR, 5 wve oft 28 W §)

A small manufacturing firm wants to produce two types of products, Normal’
and Premium’ The profit from selling either of these products is same and
equal to ¥ 100 per piece. Each of these products requires processing in three
departments—Casting, Welding and Finishing. Normal’ needs 9 hours, 1 hour
and 4 hours in Casting, Welding and Finishing, respectively. ‘Premium’ needs
4 hours, 1 hour and 7 hours, respectively in these departments. The capacities
of these departments are 36 hours, 5 hours and 28 hours, respectively.

(i) ‘w3 ¥ IdEA ) 3Een §E H AR A & fau, @ amen f welvs
g T g (Tie fo die) & dR T = FfRm

Formulate the problem as a typical Linear Programming Problem (LPP) so
as to find the optimal number of ‘Normal’ and ‘Premium’ to be produced.

(i) TTHAR WIHSH FATH WIEH FIR)

Find the maximum achievable profit.

(iii) w& Iearg s @ e
What is the right product mix?

15

10

20
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NORMAL DISTRIBUTION

An entry in the table is the proportion under the entire
curve which is between 2z = 0 and a positive value of 2.
Area for negative values of z is obtained by symmetry.

0 z
z 00 01 02 | .03 04 05 06 07 08 09
0.0 “.0000 | .0040 | .0080 | .0120 | .0160 | .0199 | .0239 .(_)279 0319 ‘.0359
0.1 |.0398 { .0438 | .0478 | .0517 | .0557 | .0596 | 0636 | .0675 | 0714 | 0753
0.2 |.0793 | .0832 | 0871 | .0910 { .0948 | .0987 | .1026 | .1064 | .1103 | .1141
03 [1179 | .1217 | .1255 | 1293 | .1331 { .1368 | .1406 | .1443 | .1480 1517
04 |.1554 ]| .1591 | .1628 .166{1 1700 | .1736 1 .1772 1808} .1844 | 1879
0.5. 1915 | 1950 | .1985 | .2019 | .2054 | .2088 | .2123 i 2157 2190 | 2224
06 |[.2257 | .2291 | .2324 | .2357 | 2389 | 2422 | 2454 | .2486 | 2517 {1 .2549
0.7 2580 | .2611 | 2642 | .2673 | 2703 | 2734 | 2764 | 2794 | 2823 | 2852
- 08 .2881 | .2910 | .2939 | .2967 | .2995 | .3023 | 3051 | 3078 | 3106 | .3133
09 |.3159 | 3186 | 3212 | :3238 | .3264 | .3289 | .3315 { .3340 | .3365 | 3389
1.0 [3413 | 3438 | 3461 | 3485 | .3508 | .3531 | .3554 | 3577 | .3599 | .3621
11 {3643 | 3665 | 3686 | .3708 | 3729 | 3749 | .3770 | .3790 | 3810 { .3830 -
1.2 |.3849 | 3869 | .3888 | 3907 | 3925 | 3944 | .3962 | .3980 { 3997 | .4015
13 14032 | 4049 | 4066 | .4082 | 4099 | 4115 | 4131 | .4147 | 4162 | 4177
14 14192 | 4207 | 4222 | 4236 | 4251 | 4265 | 4279 | .4292 | 4306 | .4319
1.5 4332 | 4345 | 4357 | 4370 | 4382 | 4394 | 4406 | 4418 | .4429 | 4441
1.6 4452 | 4463 | 4474 | 4484 | 4495 | 4505 | 4515 | .4524 | 4535 | 4545
1.7 |.4554 | 4564 | 4573 | .4582 | 4591 | .4599 | 4608 | .4616 | .4625 | 4633
1.8 4641 | 4649 | 4656 | .4664 | .4671 | .4678 | .4686 | 4693 | .4699 | 4706
19 {47131 4719 | 4726 | 4732 | 4738 | 4744 | 4750 | 4756 | .4761 | 4767
20 4772 | 4778 | 4783 | 4788 | 4793 | 4798 | 4803 | 4808 | 4812 | 4817
21 {4821 | 4826 | 4830 | .4834 | 4838 | 4842 | 4846 | .4850 | .4854 | .4857
22 |.4861 | 4864 | 4868 | 4871 | 46875 | 4878 | .4881 | .4884 | .4887 { .4890
23 |.4893 | 4896 | .4898 | .4901 | 4904 | 4906 | 4909 | 4911 | .4913 | .4916
24 |.4918 § 4920 | 4922 | 4925 | 4927 | .4929 [ 4931 | 4932 | 4934 | .4936
25 4938 | 4940 | 4941 | 4943 | 4945 | .4946 | .4948 | .4949 | 4951 | .4952
26 |.4953 | 4955 | 4956 | 4957 | 4959 | 4960 | .4961 | 4962 | .4963 | .4964
2.7 14965 | .4966 | 4967 | 4968 | 4969 | 4970 | 4971 | 4972 | 4973 | 4974
28 |.4974 | 4975 | 4976 | 4977 | 4977 | 4978 | 4979 | 4979 | .4980 | .4981
29 4981 § 4982 | 4982 | 4983 | 4984 | 4984 | 4985 | .4985 | .4986 | .4986
3.0 [.4987 | 4987 | .4987 | .4988 | .4988 | .4989 | .4989 | .4989 | .4990 | .4990
C-DRN-N-DO# 7B/ 38 6




(b) UTHE T2 A9 9 F 360 A U = wiw war ¢ 3 HAitemes Yo d=m 2 S wR
W & 3% FE| F WIS FAY @Al §; TG 30 T a1 @ it F2 3| dE T R
A i "M 10000 #e 92 R, wfa ot aiffes ymor @mma ¢ 075 2 afi anidw e
¥ 150 i afist 21 @8 wrd gu Tk Ain for oft fAifftm &0 @ 3 2, oi<d A wid % forg
31 FA (e 2gy) ufadasia o fifrm 2, Fefafea & swdfs

Paintkart Internet website stocks and sells paint online on 360 days of a year.
Paintkart store stocks several brands of paint; however, its biggest brand is
WeWe paint. WeWe paint has an estimated annual demand of 10000 litres of
paint, an annual carrying cost of & 0-75 per litre, and an ordering cost of € 150
per order. Assuming that the demand is uniform and is known with certainty,
lead time for receipt of orders is constant and certain, answer the following :

(i) <t 2 & fore geam smew wen (el ) fee 27

What is the optimal order size (in litres) for the WeWe paint?

(i) e de % fre =man o1 Aot Ao = 87

What is the minimum total inventory cost for the WeWe paint?

(iti) zEem 3w Aify & forw wie ad %7€ ) e = 22

What is the number of orders per year for optimal ordering policy?

(iv) 2 AL F fiw vy (srufq it =) w1 27

What is the time between two orders (i.e., the order cycle)?

(v) AR s @ 9 A Q, @ Femy wow 7

If the lead time is 9 days, what is the reorder level? 15

(c) () 3-afirew & wfesw & fou gaw-serfal saft aeapl &0 87 sy & fFe s
qroftE et yonforal §-anfta & forg sty €
Why are micro-payments so important for the future of e-commerce?
Explain why traditional payment systems are inadequate for e-commerce.

(i) oA fqwm Sfa1-9% (Wo o e Hio) £t yrawumd wn-Fn 87 yF woen d wind
F N vl B wWe i 73 fTEm 4 = fwws f o w1 s
HY HfwY| i
What are the phases of the system development life cycle (SDLC)? Explain
the duties and functions involved in each stage. State in detail the role of
system analyst in the system development. 15

C-DRN-N-D#t b/ 38 7 [P.T.O.



4. (o) A Ry T e B W Pl i v FRiwa o g aEmad &, T s
(i ) & wm, (wehisa) oot W foem Hifim

Consider the (simplified) list of activities and predecessors that are involved in
building a small house as given below, along with their duration (in days) :

EICETe i FTfFATT T O gl FFA arafy (ft &)
Activity Description of Activity Predecessor Activity Duration {in days)
A ffa = fmin - ' 5
‘ Build foundation
B damt 2fr Bt @ fwin A 8
Build walls and ceilings
c Ta % S wm = fmi B 10
Build roof
D |faeelt % AR F TR = FW B 5
_ Do electrical wiring .
E T 3R Ragfral =t ggm@ F B , 10
Fix doors and windows
F G2 FT ‘ C E 3
| Painting

T HeUA I & 6 foeet mom o R w1 w1 3§ F0 % 9. vl ®m e 21 #E & w5+
wfafe =1 3T & g 9 99 | W 6 9§ a% w1 He|

We assume that the builder works everyday once work is started on building
the house. Each day of work implies working from morning 9 AM to
evening 6 PM.

() af fa-fofn w8 1 3R] H g 9 & ¥F e 9@, @ foest 7@ W 4 Wit
oft FEFHETl H F G R GENT

If the foundation work is started on morning 9 AM of 1st November, when
can the builder complete all the activities involved in building the house?

i) afe ool & o s =1 w1 10 RA o 3, @ fest wew s 8 wfre wah
| TRl W A G R n?

If the electrical wiring work takes 10 days, when can the builder complete
all the activities involved in building the house?

fiii) R ifem w1 & 5 1 & o &, @ foeet wrm o # | aft sefwe | w8 @
L I Y

If the painting work takes 5 days, when can the builder complete all the
activities involved in building the house?

C-DRN-N-0721/38 8



(b)

(¢

(i

‘e | (Fa fafie ) w0 80 @ iR veeudi ST G, sl S
m yiy’ @) g R

What is ‘central limit theorem™ Give three managerial examples, where
‘central limit theorem’ is applicable.

TF T @ At faen 9 9 & T 82 # 39E YR & R dien s 21w % am
73 kg % W 3R 8 kg & U feen (Red Ruwm) F @y ama: faefw §, @
T $ wiea feat & 6 3@ wom # R} e e U wm # 9W 65 ke 3R 89 kg
& o= gm?

A set of parts coming out from a process are measured for their weights.
Assuming that the weights are normally distributed with a mean of 73 kg
and a standard deviation of 8 kg, what is the probability that a part
coming out from this process will weigh between 65 kg and 89 kg?

(iii) tas wam wran (hfr i visem) # s Hima (9§29 ww) H sEure w oWy

(W

Hfa | 78 auron yerhy foly % e fre ven saae i snoawdt 27

Explain the concept of shadow price in a linear programming problem.
How can this concept be used for managerial decision?

a1 7 AR (AT fawen wif) @ 37 gaa o A & foe, Jed &
TE-WIaEY1 Higel H qUA HIf | T8 Ared o ot AR FIRET A FA Hifm)

What is information system planning? Describe Nolan’s six-stage model
for IS planning. State the advantages and disadvantages of the model.

Foql HINT o5 79 wF UH SR WA Yuelt (geee Wafim fen) & sl
FET ARG &, S st i Iufeufa § st wo Ho 3o Fo Tuwl W T TEAR B W F
I & v 8, e w yveife gum | @ e s s @ afe wfy (Fad) #
wugifta gus (2re) T8 & Wit fafifas safemt 3 @ @ ) @ mit sl @
Ui I

Suppose we wish to implement a transaction processing system that
maintains ACID properties even in the presence of crashes. In the event of
a crash, any information stored on disk can be retrieved but any data

stored in memory will be lost. Describe one serious shortcoming of each of
the following implementations :

(1) Aiehg!-T=d (SeEd) Yo® o T feww T smraq fFen st R
The database is updated on disk on each transaction.

(2) Hiwgr-v=a Wiy § it fEes w w@n s g, aa%m%@aqwﬁf(mﬁ)aﬁm
TETg oAl W arey foRn e R

The database is kept in memory and on disk, with the copy on disk
updated every fifty transactions.

(3) iwgr-v=m WY § wn 5 | fowr W uw @ e sgdia o ad R, o @
To® A frard ) wmedt 3

The database is kept in memory. A log file is maintained on disk
recording every transaction.

15
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@us—B / SECTION—B

5. frmfafa st & s difom -

Answer the following questions :

(@) e he-=% % a8, ‘yvitr s (Tfeifie dew) v @ we fif

With reference to Induétry Life Cycle, explain the terin ‘embryonic industry’.

(b} TG i A F 5 ¥ “Utgsmwr’ A fommam Fefwe’ 6 fewuw § ot a6 @
3 B-Y i FR €, o o T afed yrow g 27

Since India’s independence, there has been a changing ideology from
‘nationalization’ to ‘privatization’. What economic factors have triggered this
change?

(c) ‘wHaEm WA R ‘fm wrifa’ & e fades Ay weem’ F W o Wi F wow
wiReal afit geeraedt w1 Ffon 7 % for, e e faweivw #) fr v @ fran s wear
27 ,
Distinguish between ‘business strategy’ and ‘corporate strategy’. How can

value chain analysis be applied to determine strengths and weaknesses at the
. level of ‘business’ and the firm’ level?

(d) ¥RE TR AR A-FIA T, TG AT YT % G, Far=il & dew % o fowa =1 qeifes
WSS Tl 1 N wmgi % onefi fanedt % s Y e ‘faend’ e R Tt F
Fuge fowm #4, wma wfea wmmsiia 3= ofn el 3wt & fiv = =1 v
T Hor ‘

- India is the world’s most attractive destination for sourcing services with
abundance of manpower, both skilled and semi-skilled. Explain various
‘modes’ of trading services under the GATT Agreement. Critically evaluate the
conflict between developing countries including India and developed countries
in international expansion of services. ‘

() ‘wgueft A f wwewn K wlwr wmen fifw ok wme fif 5 osge sw
(W0 o Fo) & 78 et FaTE & Weirud =) @ wm wenfda el 21

‘Elucidate the concept of ‘multilateral netting’ and explain how it influences

management of cash flows in a multinational enterprise (MNE).

6. fr=fafea st & sw v

Answer the following questions :

(@) AftFm wrefrt & forw a® wweFn &R R 5 & qeee o e W= niw @ 2, feveaw
T T g4 It R o T gew vy }) A o = ud R ewt R soread g, wf
FA AE I8 @A A G e Sl & for ameen amam gt §) wRa o et afdor wRiemd
< # € H MO, -0 F HER ey A9evs ¥ e & fo, wnda sumem §
P Tre TEet’ S Mo shiEt w5 w9 R, R fh aiffs w1 8 25% @ 35%
wafa & @ 21 w0l ) 1F w<t dew 3 g ¥ Hie saE 6 e fusd w1 ¥ 3w

C—~DRN-N-DOnt b/ 38 10
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@ AIE F W IIM fit AW A B 3F futa, aftmww shih e’ w5 ded = @
Foft Aeve A s W oAfka #| s d, ‘T o deelt oW s safee wEE
IAR-EEY AAF AwE g1 W TR, e fawm agve s sl arafiear @
T R '

Most Indians find it difficult to understand how Western people eat beef,
particularly since cow gives milk and is a revered animal. Korea and other East
Asian countries’ love for foods such as bloodworm soup, snake and dog meats
is not easy to understand for outsiders. In India and other South Asian
countries, the fairness of skin is the most important parameter of women’s
beauty. There is, for example, a huge market in Indian subcontinent for
fairness creams such as ‘Fair and Lovely’ which is growing annually at 25% to
35%. A large number of firms have attempted to exploit this opportunity by
introducing a variety of fairness products in the market. On the contrary, most
Africans are surprised at fairness’ being considered a key parameter of beauty.
In Africa, brands like Dark and Lovely’ for personal care products are highly
popular. Thus domestic marketing experiences often conflict with international
reality.

(i ITH H A A W g IA-TEn FEfeA (Vew-Tew FEdiEn) £ awea Fl @
#ifse, N armiga & § F1 =@ T s Kt agie fola (e fafaem) o
&1 e B wnfaa s €

In view of the above, explain the concept of Self-Reference Criteria (SRC)
that influence a manager’s ability to make objective decisions while

operating in international firm. 5
(i} A FRiT FRER F TR @1 ] FE-Foes $@ f yarus f daar o e v

wofeE el 87

How do these impact ability of managers to perform effectively in

international business? 5

(b) ‘‘urofma (ERARMEE) # oA B smurRen A @R F gR i wam i afie
e wiy-wy 9e W B177 38 FYA I ANEEIgES T i
“Environmental conservation can go hand in hand with economic development
by keeping sustainability as the cornerstone of the policy.” Critically examine
this statement. 10

fc) T T aH WA T T TR FEAW H WA FH AR AWK e @ R A&
faws @ S wivm =iF A @ik @ i m o R A e 9 of @ wm '@ @
TE 39 TRt F ferega Tty wieded, gema @ Tl frasm R Aand sdw & o ® 2:5%
R wfiym da TR G A1 1994 F Fo HTATW TR Fo ATF B 771 Tl 1 FLR &
e } d9gd F9 AFE T wHNE R e 3Em i gl wem o advem g w e
g1 ©d EREn g (ICT) & g0 faem & wron avts 9 wrafal aren & yaw & afi
F9 FHIR W e 2fen dad syerey wua off, smfs 3 v ol safy & oSt & g d
3t a1fte & R aem A 3 e AR § w@w @ A= af<w $ s, 992000 7@ 150
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& e o et e M da A A @ o i e B A & FeE o
B T 1999 & YT % 4 HE-AT 5000 3 FH TOF ARW W S 14:95 F A g A
TeHT T e e dard sueey w1 @ off FafE qoi-d91 T $ 20 v TR W =

HH A 1000 W H AWK @ § 500 % Hege W AR Yo weH oW @ 9 7§ 2000 F

TR T TG e H I R T AWK A 40% B 711 T F & FH a1l Fenel] i
et rEifa SEert ot 1999 ¥ A fom, oof fa1 W w @ 9 ea, 3 1000 ST @ &
FOR T $ 2995 & HgHHA W I’TAeTEd AR Fa¢ YqW &1 TRe fham | seeft 3 st
Taratt it < Fede R T AEgy W Ui SR H gl shE TEE! F TG #1 3E
1 Fft F e Al Feh § el B B i @ A afals Bl o 7 @ AR o %
s uEER % e Wiy w@ otiemR 2fen < T glawn st geawe ol awm fewmee
STe e TeAw F1 2000 ¥ I % IEF (NASDAQ) 1 ISR Hed 3k Hih! I
I918 B e 60% @ 741, HifE 578 wiehl &l a1 8 Ao SfSn e =8 8 @ 91t 3
T 1 H TR 9 8 AT

For years, stockbrokers with expensive computer hardware traded online and
charged individual investors hefty commission to buy or sell a stock.
Full-service stockbrokers such as Merril Lynch offered clients detailed research
reports, recommendations and financial planning services for as much as 2-5%
of the value of the order in commission. In 1994, a small discount broker
K. Authaurer & Co. became the first to offer online trading over the Internet at
much lower cost and commission. With rapid expansion in information and
communication technology (ICT), entry of number of small companies offering
clients online trading services with low commissions, America’s long bull
market drew ever more individuals into stock market. By 2000, over 150 firms
were offering online trading over Internet due to low entry barriers.
Commissions further dropped due to intense competition. By early 1999,
online brokers charged deep discount fees of $ 14-95 per market order of up to
5000 shares compared to $ 500 charged by full-service brokers for the order
up to 1000 shares trading at $ 20 per share. By mid-2000s, the volume of
online trading accounted for 40% of all the stock trades. Full-service brokers
had to change their strategy. In 1999, Merril Lynch, a full-service broker,
announced online trading service for a fee of $ 2995 for trades up to
1000 shares. The company also shifted to a new uniform fee structure with a
flat new rate allowing unlimited number of trades for many individual clients,
although the company faced internal rebellion from its army of stockbrokers
due to decline in income. For many of Merril’'s clients, a combination of
research and online trade was a better value proposition than discount online
trading houses. By late 2000, NASDAQ declined in value by 60% due to
multiple factors drying up the online trading. The same was the fate of other
stockbrokers.

fij e fem § atiremz 2fen § Froae w s-fse ge o7 Ruof $ifvm)
Do you think that the decline in online trading was a watershed event?
Comment.
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(i} wioeaaters OHifd TR % o sReqafors acdl & ofeda & faemn F R sh-m
=3t o (Buash) 27
What is a good framework to analyze the changes in competitive forces to
shape the competitive strategy? 10

(iii) el 3@ § gleauiers @ § gu aieda 3 e wer s | wem & fo smeves
i F wed e oY

How did change in competitive forces in the brokerage industry change
the strategies required for success in the industry? 10

7. Teiafed woii & 3@ &

Answer the following questions :

(@) = & 53wl § 2013 # B9 % I ARG HEER] 1 G fom

A summary of major trade partners of France in 2013 is given in the table

below :
B & G SI9IRE qTERR
Major Trade Partners of France
fgta | Exports 3T [ Imports
1 | Country | 49 (o Wo $ 3l #) | 3797 (%) | o7 (o Wo $ 3wl #) | 3797 (%)
Value (US $ billion) | Share (%) | Value {US $ billion) | Share (%)
St 932 164 1142 17-1
Germany
e 43-6 77 52:4 7:8
Belgium
Eer 40-3 7-1 477 7-1
Italy
o o 391 69 27-5 41
UK
L 38:3 68 40-7 6'1
Spain
Fo THo Wo 358 63 43-4 6'5
USA
Hgedrgu 233 4-1 289 4-3
Netherlands
=i 19:6 35 53-8 8-1
China

et (E A, it =mr Pt 3 4 wR-d Bl 1l S et wE st 27
e e # watfies I R & 510 SR STIR Wl ) JHEst |

In your opinion, which of the international trade theories explains the above
trade patterns? Explain the above trade patterns with the theory that you
think is most appropriate. 20
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(b) "R % slifgeE TR (eaagera Urel) Y guen w1 e e FHs W 2t gee e

W TEd gu R, e ofit wiftuget % wedd #, s wraer wew @ Awem w3 F R afk
megm%mwwﬁwm&wéaﬁ%ﬁﬂ 3 o I
I Reoprie F41?

“Protection of intellectual property regime has been relatively weak in India.” In
view of this, what measures will you recommend to strengthen and bring the
intellectual property regime at par with internationally accepted framework of
intellectual property protection in the context of patents, trademarks and

copyrights?
|

(c) “ﬁ?ﬁ%aﬁﬁmmﬁﬁ%ﬂﬁﬁﬁgﬁﬁﬁ ‘Eaa ® g s weegt 217w sneht

W™ A “wdear aﬁéﬁmmm%m%gﬁ%mwm%? A T R
wfora <hifsm |

“In the appointment of independent directors on corporate boards, it is

important to ensure the ‘independence’.” Do you think that independence’ is a

matter of structure of the board or application of mind? Substantiate your
argumernt.

8. Pl weil & wm G -

Answer the following questions :

o) Tosig Qe faveew & 3w o B P& 9 o1EEE @l V, X, YA Z & e
% aferd frn mn 2

Four business units V, X, Y and Z of a firm P have been characterized as
follows, after carrying out the Business Portfolio Analysis :

T U v X Y Zz
Business Unit
sioft Fa |wmeg (Fmw) | fwm we o
Category Dog Cash Cow Star Question Mark
(i) T HIEE T F forg wWrlifas e fereat & Fufon #3 F fo s Sa wifees’
2 1 T YRR SRl i?

How will you use the ‘general electric’ framework to determine the
strategic investment options for these business units?

(i) T vaerdi ¥ Q, ¥ P % U@ % Y F =R H GleT =msd § o 3us fo

mﬁmwﬁrmw%mmélwmﬁPﬁmﬁaﬁwmaﬁq?mﬁ

w1 Q W IEE W Y awa # v P& R Far ver-famw 87

A competitor firm Q is keen to acquire firm P’s business unit ¥ and is
willing to pay an attractive amount for this purpose. Should the firm P
accept the offer? What are the pros and cons to firm P of selling the
business unit Y to competitor firm @?
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(b) (i) ‘s & rauwen F gav § sren fif A o s ok Tam aem w

ITH IR F wfawar e fifw)
Briefly explain the concept of ‘dumping’. Elaborate various forms of
dumping and their impact on the target market. 10

(i) ‘UR H I F gHReIN F WE FRC aw gaw vrw wogel Few, vwa ik
‘s’ & =R F yEt § fave i) fowiia @ aweie gw A S fi @l §
firran & w01 g |
Explain the concept of ‘terms of trade’ and its significance. Differentiate
between ‘net’, ‘gross’ and ‘income’ terms of trade. Identify the reasons for

differences of ‘terms of trade’ between developed and developing
countries. 10

(c) ‘‘vgudE i & fau fRe ww dewifer w1 yEm e w1 fofas @ @, ®ife s
T 2Ea1 el et | HAe Y % d9dd & gl § 36 9 i wWe FHifs

“Managing external debt portfolio of a multinational firm is crucial to
profitability, as otherwise operational efficiency will jeopardize.” Explain this in
the context of enhancing corporate value. 10

* %k
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